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QOdiEstsHyH T2 29 24,860
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2A: DS
XM A|D >
(=R B

=)
g2l MSAE 29

SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
—NSTHAN & BEE 1,000
OXt& & Byl 2,000
— g 580 ¥ |Xd 2,000
OA&ZEHl s X bl 36,000
—ZHsE 2 Q 20 M| A, S S
mAE 27,000
— 23 s3 2 HHEI] N2 X FH] 4,000
— =2 L& 2,000
—Ha=x HA(2MA) 500,000& *23| 1,000
—YALEX SALS FH FHI
1,000,000 «2J4 A 2,000
202 04l 6,240 6,240 0
01 SLHOYI 6,240 6,240 0
OMsAL2e A 6,240
206 = Hl 40,000 40,000 0
01 MHZ 4l 40,000 40,000 0
OS8Es M8 sX2L 40,000
401 Al HI K 201 I 251,500 334,500 83,000
01 A& HI 250,000 333,000 83,000
OMSAE FX 2= 250,000
—HsAE E= & Fdl 250,000
03 AIE2 2 THHI 1,500 1,500 0
OM= A4 22 1,500
HMEAE 2= 2,603,000 2,904,904 A 301,904
Xl 700,000
Al 1,903,000
HsAE =4 701,000 401,500 299,500
401 A& HIZ 201 Y| 701,000 401,500 299,500
01 A& HI 700,000 400,000 300,000
OS8¥E MESAE &X 100,000
OF=20=7& =4 600,000
03 AlE 2 THHI 1,000 1,500 A 500
O33 HMSsAE £ 1,000
HMESHUEANE N (22F AE) 1,902,000 1,751,404 150,596
Xl 700,000
Al 1,202,000
401 A& HIZ 2018 1,902,000 1,751,404 150,596
Xl 700,000
Al 1,202,000
01 A& HI 1,900,000 1,649,404 250,596
O==2&% x4 1,900,000
Xl 700,000
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

Al 1,200,000

03 A& 2 0HH| 2,000 2,000 0]
O==2% x4 2,000

MEHE 4 1,593,720 1,592,349 1,371
Dl 174,040
< 59,502
Al 1,360,178

BHEQEH & 29 1,203,000 1,203,000 0
& 40,000
Al 1,163,000

201 et d| 3,000 3,000 0

02 53294l 3,000 3,000 0
03322 % MA 1,000
—XANSIAH & B2 1,000
(@PNE=FaR=la:] 2,000
— X 2 ¥ KA 2,000

301 LBt A= 1,200,000 1,200,000 0
< 40,000
Al 1,160,000

V=Y - 2SESEANZ 1,200,000 1,200,000 0]
OEEE M 21HH & 249H| 1,200,000
o= 40,000
Al 1,160,000

MENs A 30,160 30, 160 0
& 4,838
Al 25,322

307 212t0| & 30,160 30, 160 0
& 4,838
Al 25,322

02 DI2ZtF AALH E X 30,160 30, 160 0
OdE=sns 249 30,160
= 4,838
Al 25,322

HEAMEYNSANESA X (BSXE) 76,824 76,824 0
J| 38,412
Al 38,412

307 212t0| & 76,824 76,824 0
J| 38,412
Al 38,412

02 AABAMANEE X 76,824 76,824 0
Oesade MEFAE A 21AHb] 76,824
Jl 38,412
Al 38,412

MEsZTz)dH XS 28,480 28,480 0
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&< 4,664
Al 23,816
02 QIZFA AAIE E X 28,480 28,480 0
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Al 4,010
OX+H= w4 5,320
& 1,037
Al 4,283
OFAYE HMadna 10,000
o 950
Al 9,050
O&dMEN= 4,680
& 1,123
Al 3,557
OZ28Us 3449 Hsns 3,520
o= 604
Al 2,916
UBMERSXCX WX (ESXH) 179,256 179,256 0
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Al 89,628
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J| 89,628
Al 89,628
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OME = AR o12AH| 179,256
J| 89,628
Al 89,628
Tx 2AFx0I2A 66,000 64,629 1,371
J] 46,000
= 6,000
Al 14,000
307 2Iz2t0| A 66,000 64,629 1,371
Dl 46,000
o 6,000
Al 14,000
02 QI AAIRE E X 66,000 64,629 1,371
OAxZx dx02A 66,000
J| 46,000
= 6,000
Al 14,000
g s 54 10,000 10,000 0
& 4,000
Al 6,000
307 2izto| & 10,000 10,000 0
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2N

B AD AYSH(2HLBZ/AR)
SR MEA 22 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Od= @ o9 N=S8N 9028 S 2,000
301 dEtE A= 25,000 25,000 0
06 212toI =2 (4 Bl 25,000 25,000 0
OHEIEds S MU &It 25,000
307 212t01 & 37,000 37,000 0
02 DIZtZAAMEE X 30,000 30,000 0
O¥=283l 30,000
04 QIZHSHALAIE B2 X 7,000 7,000 0
ONMEA Al&tA 7,000
405 XtabF S| 7,000 31,000 A 24,000
01 Mt = S F S 7,000 31,000 A 24,000
O=SA WH(ITH) 7,000
ek ol e OletE tHal 297,000 296,000 1,000
201 Bt A | 67,000 66,000 1,000
01 AFR2 22l Yl 67,000 66,000 1,000
Oget+=gH| 59,000
— 0tet=E 3 2Z8H4H & 3l ol &l 8,000
— 0i2tE g Jt2271 20/8 &l 4,000
—0OietE tig 233 6,000
—0l2tE U3 g8 35,000
—OtetE tigl OlXIE & 2108 &4 6,000
ogxts 8,000
—0t2tE 3 olsstaAl 8,000
301 dEtE A= 5,000 5,000 0
09 HAIAH EA =S 5,000 5,000 0
Obtete K3 X H&X AS 5,000
307 212t01 & 225,000 225,000 0
04 QIZHSHAFAIRHE 2 X 225,000 225,000 0
ogaotel s OretE tal 225,000
H153 L eotel s Ot2tE U3l 190,000
— Hl163 L A0oiel & OtetE U3l 35,000
3.18D|18 98EF=U3 18,000 15,000 3,000
307 212t01 & 18,000 15,000 3,000
04 QIZHSHAFAIE 2 X 18,000 15,000 3,000
O3. 187018 J8E8x Ug 18,000
TOME 3 190,000 190,000 0
307 QI2t01 & 190,000 190,000 0
02 QI2tAAMAIE E =X 190,000 190,000 0
OZ0ME 3l &It 190,000




2N nEMs

HE: A HLS (2L 2Z/HK)

SR MSEA 2el (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ARIE H=02 35,000 35,000 0

307 gl2tol & 35,000 35,000 0
04 DIZFSHAIAIRI 2 = 35,000 35,000 0
OAQI & M=Hal 35,000
MBI 2D tHal 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALALH 2 = 10,000 10,000 0
OAlgl 2t 2J] thal 10,000
Tol MEHs el 102,000 90,000 12,000
307 21201 A 102,000 90,000 12,000
02 QB AAGFEX 102,000 90,000 12,000
O MEH=Ma &It 102,000
ANEH AlRIZ2Z 13l 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIR B = 7,000 7,000 0
OAIZHH AlRI=2Z H3l 7,000
d=H= s 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
O&=x<= tal 3,000
AMEI BHESE O3l 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 QIZFHALAIH E = 8,000 8,000 0
OAIZDl BHEQIE i3l 8,000
AMEH AHOIEE U3l 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIH B = 7,000 7,000 0
OAZH HOIEZ e 7,000
AMEI HILIA THal 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OAIEII HiLIA tHal 7,000
AEH &= TI3=Z el 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DI2HHALALSE E X 15,000 15,000 0
OAZEH ¥32MaA=2Z sl 15,000
FaE Z& U3 9,000 9,000 0




25 DEMESH
M AQ AAST (2L AZ/HS)
SR MSEA 2el (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
307 212t01 & 9,000 9,000 0
04 QIZHSHAFAIE 2 X 9,000 9,000 0
OFad ZA al(x,85,12) 9,000
gdsd =3 E2US 22,000 22,000 0
307 212t01 & 22,000 22,000 0
04 QIZESHALAIE B2 X 22,000 22,000 0
Ogsdxd =32 U3 22,000
Lot/ &l el sF2US 7,000 7,000 0
307 QI2t0| ™ 7,000 7,000 0
04 QI2tSHALAIE E &= 7,000 7,000 0
Oogaotel g 2220 =7 U3 7,000
UFA MEHMF XNNEHEH| CHEHE 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
04 QIZ2HSHAFAIRE 2 X 20,000 20,000 0
OMEME NEAHED HEX 20,000
A EBH AFSI QI OF 2 CH & 7,000 7,000 0
307 212t01 & 7,000 7,000 0
04 QIZHSHAFAIHE 2 X 7,000 7,000 0
OA b8 AFSICIOFLH 3 7,000
0ot &Hl Z&UE 6,000 5,000 1,000
307 212t01 & 6,000 5,000 1,000
04 QI2FSHALAIE B = 6,000 5,000 1,000
OZarotel el Zat3l 6,000
MENs 2435 23,000 23,000 0
307 QI2t0| ™ 23,000 23,000 0
04 QI2tSHALAIE E &= 23,000 23,000 0
OMells 243 23,000
M=23 L3 IS5 /35 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 DIZHSHAFAIRHE 2 X 5,000 5,000 0
ONM=E3 9 223 /A3 5,000
2 d S0 HM=sUHE Ot 150,000 122,000 28,000
307 212t01 & 150,000 122,000 28,000
02 DI2ZtZ AAMEE X 150,000 122,000 28,000
O ZOMHE U3 &It 150,000
COXN=US 6 4 50,000 50,000 0
307 QI2t0| ™ 50,000 50,000 0
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 50,000 50,000 0
OFHMEUE 286 &4 50,000
SUQFAIEHY EHE S T3 7,000 0 7,000
307 gizto| A 7,000 0 7,000
04 CIZ2tSHALALSE B = 7,000 0 7,000
OHM103 LAAIEH EHASZ HE 7,000
M2 HSHA 753,668 308,858 444 810
o= 33,334
Al 720,334
d= 2203 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
04 CIZ2tSHALALS B = 20,000 20,000 0
O&= 22U 3 20,000
&= HHECIE S 250,000 225,000 25,000
= 20,000
Al 230,000
307 2Iz2t0| & 250,000 225,000 25,000
= 20,000
Al 230,000
04 SIZ2HSHAAISH E & 250,000 225,000 25,000
OF= & =4 BHELE U3l 180,000
= 20,000
Al 160,000
OLE3Z&) M= Hleole tal 40,000
OO0te| &l 8= BHEQE O3 30,000
ool M= sotel X 6,668 6,858 A 190
& 3,334
Al 3,334
307 2iz2to| & 6,668 6,858 A 190
&< 3,334
Al 3,334
04 OIZ2tSHAFALS B X 6,668 6,858 A 190
O&oel H=sotel 6,668
o=} 3,334
Al 3,334
A B M = K& 5,000 5,000 0
307 QI2t0| ™ 5,000 0 5,000
02 AI2tAAMAIE E =X 5,000 0 5,000
O3 Ze M= 5,000
dY AH=EF2U3S 15,000 15,000 0
307 212t0| & 15,000 15,000 0
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X ZH -
L= B

el

= - 4 14
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
04 SIZ2ISHAAIH E & 15,000 15,000 0
OZY Ay =203 15,000
X2 &S 10,000 10,000 0
307 gizto| A 10,000 10,000 0
04 CIZ2tSHALALSE B = 10,000 10,000 0
O&X=zdE &M 10,000
IFAIED Y 2 3203 7,000 7,000 0
307 212t0| & 7,000 7,000 0
04 CIZ2HSHALALS B X 7,000 7,000 0
OYAFAEI Y e 3 7,000
gQuiA Bplop =L o BHECIE A+ O3l 290,000 0 290,000
== 10,000
Al 280,000
307 2Iz2t0| & 290,000 0 290,000
& 10,000
Al 280,000
04 SIZ2HSHAAISH E & 290,000 0 290,000
Otils 8xd « 290,000
= 10,000
Al 280,000
dY HEN & &2 d tH 3l 20,000 0 20,000
307 gizto| & 20,000 0 20,000
04 QIZ2tSHALAIS B X 20,000 0 20,000
Ooddg Hzal & 2 HEEH S 20,000
I BHEQIE AW S| A St AU S 130,000 0 130,000
307 QI2t0| & 130,000 0 130,000
04 CIZ2tSHALALS B X 130,000 0 130,000
OZ.10 HHELIEA ) =2 sStMASA
CH &l 130,000
HHSAFH (LS HSD)(OIEH/IIE) 115,183 208,888 193,705
A2 AHI 41,177 123,352 N82,175
A 2HH| 41,177 123,352 N82,175
101 Q124 H] 41,177 123,352 N82,175
03 RIAHL*ZZXHE S 41,177 41,739 A B62
O2std=s & 22 41,177
—-JlE2= 1,549,300 x12& «1H 18,592
— &2 8,418
JlLYe 1,639,300& 43| x1H 6,558
H A SOHY| 929,580 23| x1H 1,860
—S&g 1,080




M DM
M HE2GIU (LSS ) (IIEHIIE
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
&Y 90,0003 x12& «1H 1,080
— X oHAC 240
rE2(EHE) 20,0003 x12& «1H 240
—ZUZRFE 11,567
AMZ2EAZ 2 10, 1103 *52A1 2H+ 128 »1H 6,309
527 80,8803 65 x1H 5,258
—Qx=g 53,9603 x20 L x1H 1,080
— 1=l 200
Jl23l 74,006 85,536 A 11,530
Jl2&l 74,006 85,536 A 11,530
201 LBt 31,566 39, 156 AT,590
01 At 22l 31,566 39, 156 A7,590
ORNEY Jl=&Hl 31,566
202 04l 39,440 42,820 A 3,380
01 = LHA YI 39,440 42,820 A 3,380
O=UW A dl 39,440
203 R =&t 3,000 3,560 A 560
04 EAN2ISR2FEHI 3,000 3,000 0
fA2Y g 3,000
NRes(usHsh) (222 /) 370,000 350,000 20,000
HEAHHK = 370,000 350,000 20,000
LHEHeH X = 370,000 350,000 20,000
702 JISEES 370,000 350,000 20,000
0MNII3HEES 370,000 350,000 20,000
OM=s&s JIaxs 370,000




